

# Garage (Residential) in Mqabba



**Mqabba, South**



**€72,000**

Reference No: 240461048-729

 Total Rooms: **0**

 Floor Area (m<sup>2</sup>) : **23**

 Bathrooms: **0**

 Bedrooms: **0**

# Garage (Residential) - For Sale - Mqabba

Mqabba - Garages- Located in the southern area, close to all amenities, these garages are situated underneath the block, with a selection of 1, 2, and 3-car garages available at semi-basement and basement levels. Estimated completion date: December 2027. Contact your preferred agent for more information.

## Features

- ✓ Water Utility

## Rooms

- ✓ Garage : 7.51 x 3 m (22.53 m<sup>2</sup>)
- ✓ Garage : 7.07 x 3 m (21.21 m<sup>2</sup>)
- ✓ Garage : 6.62 x 3 m (19.86 m<sup>2</sup>)
- ✓ Garage : 6.18 x 3.3 m (20.39 m<sup>2</sup>)
- ✓ Garage : 5.5 x 3.35 m (18.43 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 3 m (16.5 m<sup>2</sup>)
- ✓ Garage : 6.66 x 5.25 m (34.97 m<sup>2</sup>)
- ✓ Garage : 10.13 x 3.96 m (40.11 m<sup>2</sup>)
- ✓ Garage : 9.5 x 3 m (28.5 m<sup>2</sup>)
- ✓ Garage : 7.51 x 3 m (22.53 m<sup>2</sup>)
- ✓ Garage : 7.07 x 3 m (21.21 m<sup>2</sup>)

- ✓ Garage : 6.62 x 3 m (19.86 m<sup>2</sup>)
- ✓ Garage : 5.5 x 3.33 m (18.32 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)
- ✓ Garage : 5.5 x 2.7 m (14.85 m<sup>2</sup>)

# Gallery





**Josianne Camilleri**

RE/MAX Professionals - Mosta

M: 79050767

E: [jcamilleri@remax.com.mt](mailto:jcamilleri@remax.com.mt)

T: 27998977

**RE/MAX Professionals - Mosta**

24, Vjal L-Indipendenza, Mosta, Malta